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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

₈ ₉

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)

1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
(Rה2

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 12 × 10

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 10 × 6

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
saה3

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

↕ L  [km] 38

 M 7.5

ⱷfi♩ Mכ⸗ 0 [Nm] 2.85E+19

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.9

⸗♦ꜟ  Smodel [km
2
] 720

 Ds [MPa] 3.6

∆═╡  D  [m] 1.27

⸗♦ꜟ  [°N] 37.164

⸗♦ꜟ  [°E] 139.929

 q [ ] 192.1

 d [ ] 45.0

∆═╡  l [ ] 90

⸗♦ꜟ ↕ H s [km] 2

⸗♦ꜟ ↕  H d [km] 15

⸗♦ꜟ ↕ L model [km] 40

⸗♦ꜟ  Wmodel [km] 18

꜠ⱬꜟ A  [Nm/s
2
] 1.62E+19

▪
☻
Ɑ
ꜞ

♥

172.0

15.1

2.54

1.36E+19

▪
☻
Ɑ
ꜞ

♥

1

114.7

15.1

2.82

▪
☻
Ɑ
ꜞ

♥

2

57.3

15.1

1.99

548.0

2.8

0.87

1.49E+19  
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─√╘─ Ɽꜝⱷכ♃ 2016 ⸗♦ꜟ  
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

₈ ₉

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
(Rה2

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 8 × 8

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
3
saה

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

↕ L  [km] 20

 M 7.0

ⱷfi♩ Mכ⸗ 0 [Nm] 8.17E+18

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.5

⸗♦ꜟ  Smodel [km
2
] 336

 Ds [MPa] 3.2

∆═╡  D  [m] 0.78

⸗♦ꜟ  [°N] 36.379

⸗♦ꜟ  [°E] 139.411

 q [ ] 300.9

 d [ ] 45.0

∆═╡  l [ ] 90

⸗♦ꜟ ↕ H s [km] 2

⸗♦ꜟ ↕  H d [km] 10

⸗♦ꜟ ↕ L model [km] 24

⸗♦ꜟ  Wmodel [km] 14

꜠ⱬꜟ A  [Nm/s
2
] 1.07E+19

▪
☻
Ɑ
ꜞ

♥

69.5

15.6

1.56

3.38E+18

▪
☻
Ɑ
ꜞ

♥

1

69.5

15.6

1.56

▪
☻
Ɑ
ꜞ

♥

2

 

 

266.5

3.2

0.58

4.79E+18  

 βɨb=Ⱥɨ≤ ⇔√⁹ 
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

₈ ₉

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)

1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
(Rה2

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 8 × 6

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
saה3

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

↕ L  [km] 18

 M 6.9

ⱷfi♩ Mכ⸗ 0 [Nm] 6.65E+18

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.5

⸗♦ꜟ  Smodel [km
2
] 360

 Ds [MPa] 2.4

∆═╡  D  [m] 0.59

⸗♦ꜟ  [°N] 36.378

⸗♦ꜟ  [°E] 139.319

 q [ ] 153.9

 d [ ] 45.0

∆═╡  l [ ] 90

⸗♦ꜟ ↕ H s [km] 2

⸗♦ꜟ ↕  H d [km] 15

⸗♦ꜟ ↕ L model [km] 20

⸗♦ꜟ  Wmodel [km] 18

꜠ⱬꜟ A  [Nm/s
2
] 9.97E+18

▪
☻
Ɑ
ꜞ

♥

49.3

17.3

1.18

1.82E+18

▪
☻
Ɑ
ꜞ

♥

1

49.3

17.3

1.18

▪
☻
Ɑ
ꜞ

♥

2

 

 

310.7

2.4

0.50

4.83E+18  
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = SSmodel_seg

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

₈ ₉

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

Smodel_seg = L model_seg Wmodel_seg

Smodel_seg ─1.5 ⌐ ∂≡

D seg = M 0seg / (m Smodel_seg)

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
(Rה2

☿◓ⱷfi♩  Sa [km
2
] Smodel_seg ⌐ ∂≡

∆═╡  D a [m] D a = gDהD seg, gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 12× 12 12× 12 18× 16

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 10× 8 10× 8 12× 12

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
saה3

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

↕ L  [km] 69

 M 7.9

 Ds [MPa] 4.8

∆═╡  D  [m] 2.26

⸗♦ꜟ  [°N] 36.366 36.366

ⱷfi♩ Mכ⸗ 0 [Nm] 9.14E+19

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 7.2

⸗♦ꜟ  Smodel [km
2
] 1296

 d [ ] 60.0 60.0

∆═╡  l [ ] 90 90

⸗♦ꜟ  [°E] 138.821 138.821

 q [ ] 122.1 122.1

60.0

90

122.1

⸗♦ꜟ ↕ L model [km] 36 72

⸗♦ꜟ  Wmodel [km] 18 18

⸗♦ꜟ ↕ H s [km] 5 5

⸗♦ꜟ ↕  H d [km] 20 20

5

20

36

18

☿◓ⱷfi♩ ∆═╡  D seg [m] 2.26 2.26

꜠ⱬꜟ A  [Nm/s
2
] 2.39E+19

⸗♦ꜟ  Smodel_seg [km
2
] 648 1296

☿◓ⱷfi♩ ⱷfi♩ Mכ⸗ 0seg [Nm] 4.57E+19 9.14E+19

648

4.57E+19

2.26

▪
☻
Ɑ
ꜞ

♥

450.6

13.7

225.3 450.6

4.52 4.52

3.18E+19 6.35E+19

225.3

4.52

3.18E+19

▪
☻
Ɑ
ꜞ

♥

2

75.1 150.2

13.7 13.7

3.54 3.54

▪
☻
Ɑ
ꜞ

♥

1

150.2 300.4

13.7 13.7

5.01 5.01

150.2

13.7

5.01

75.1

13.7

3.54

422.7 845.4

2.0 2.8

1.05 1.05

1.39E+19 2.78E+19

422.7

2.0

1.05

1.39E+19  
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

 

 

 

 

 

 

 

 

▪☻Ɑꜞ♥▫≤ ─   

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

₈ ₉

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
2
(Rה

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 8 × 6

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
3
saה

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

▪
☻
Ɑ
ꜞ

♥

1

51.1

17.6

1.18

▪
☻
Ɑ
ꜞ

♥

2

 

 

348.9

2.3

0.51

5.50E+18

▪
☻
Ɑ
ꜞ

♥

51.1

17.6

1.18

1.89E+18

⸗♦ꜟ  Wmodel [km] 20

꜠ⱬꜟ A  [Nm/s
2
] 1.03E+19

⸗♦ꜟ ↕ H s [km] 5

⸗♦ꜟ ↕  H d [km] 20

⸗♦ꜟ ↕ L model [km] 20

 q [ ] 130.2

 d [ ] 50.0

∆═╡  l [ ] 90

0.59

⸗♦ꜟ  [°N] 36.057

⸗♦ꜟ  [°E] 139.444

↕ L  [km] 19

 M 7.0

ⱷfi♩ Mכ⸗ 0 [Nm] 7.39E+18

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.5

⸗♦ꜟ  Smodel [km
2
] 400

 Ds [MPa] 2.2

∆═╡  D  [m]
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

 

 

 

 

 

 

 

 

 

▪☻Ɑꜞ♥▫≤ ─   

 

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

₈ ₉ ≤ ∂≤

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
2
(Rה

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 8 × 6

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
3
saה

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

▪
☻
Ɑ
ꜞ

♥

1

51.1

17.6

1.18

▪
☻
Ɑ
ꜞ

♥

2

 

 

348.9

2.3

0.51

5.50E+18

▪
☻
Ɑ
ꜞ

♥

51.1

17.6

1.18

1.89E+18

⸗♦ꜟ  Wmodel [km] 20

꜠ⱬꜟ A  [Nm/s
2
] 1.03E+19

⸗♦ꜟ ↕ H s [km] 5

⸗♦ꜟ ↕  H d [km] 20

⸗♦ꜟ ↕ L model [km] 20

 q [ ] 140.6

 d [ ] 50.0

∆═╡  l [ ] 90

0.59

⸗♦ꜟ  [°N] 35.946

⸗♦ꜟ  [°E] 139.607

↕ L  [km] 19

 M 7.0

ⱷfi♩ Mכ⸗ 0 [Nm] 7.39E+18

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.5

⸗♦ꜟ  Smodel [km
2
] 400

 Ds [MPa] 2.2

∆═╡  D  [m]
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─√╘─ Ɽꜝⱷכ♃ 2016 ⸗♦ꜟ  
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

↓╣╕≢≤ ⌐ ≤

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
2
(Rה

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 12 × 8

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 8 × 6

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
3
saה

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

↕ L  [km] 33

 M 7.4

ⱷfi♩ Mכ⸗ 0 [Nm] 2.17E+19

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.8

⸗♦ꜟ  Smodel [km
2
] 612

 Ds [MPa] 3.5

∆═╡  D  [m] 1.14

⸗♦ꜟ  [°N] 35.669

⸗♦ꜟ  [°E] 139.453

 q [ ] 315.0

 d [ ] 80.0

∆═╡  l [ ] 90

⸗♦ꜟ ↕ H s [km] 2

⸗♦ꜟ ↕  H d [km] 20

⸗♦ꜟ ↕ L model [km] 34

⸗♦ꜟ  Wmodel [km] 18

꜠ⱬꜟ A  [Nm/s
2
] 1.48E+19

▪
☻
Ɑ
ꜞ

♥

140.2

15.2

2.27

9.93E+18

▪
☻
Ɑ
ꜞ

♥

1

93.5

15.2

2.52

▪
☻
Ɑ
ꜞ

♥

2

46.7

15.2

1.78

471.8

2.6

0.80

1.17E+19  
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429  

╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

↓╣╕≢≤ ≤

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
2
(Rה

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 10× 8 10× 6

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    8× 4

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
saה3

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

378.9 378.9

2.7 2.4

0.66 0.66

7.81E+18 7.81E+18

▪
☻
Ɑ
ꜞ

♥

2

 29.7

 16.0

 1.35

▪
☻
Ɑ
ꜞ

♥

1

89.1 59.4

16.0 16.0

1.73 1.91

꜠ⱬꜟ A  [Nm/s
2
] 1.23E+19

▪
☻
Ɑ
ꜞ

♥

89.1

16.0

1.73

4.80E+18

⸗♦ꜟ ↕ L model [km] 26

⸗♦ꜟ  Wmodel [km] 18

 1 5

∆═╡  l [ ] -90

⸗♦ꜟ ↕ H s [km] 2

⸗♦ꜟ ↕  H d [km] 15

⸗♦ꜟ  [°E] 140.107

 q [ ] 265.7

 d [ ] 45.0

 Ds [MPa] 3.0

∆═╡  D  [m] 0.86

⸗♦ꜟ  [°N] 35.102

ⱷfi♩ Mכ⸗ 0 [Nm] 1.26E+19

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.7

⸗♦ꜟ  Smodel [km
2
] 468

↕ L  [km] 25

 M 7.2
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

 

 

▪☻Ɑꜞ♥▫≤ ─   

⌐╟╢

M  = (log L  + 2.9) / 0.6

M 0 = (Smodel 10
11

/4.24)
2

10
-7

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

↓╣╕≢≤ ≤

≤2km─ ™

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
2
(Rה

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
saה3

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

↕ L  [km] 14km

 M 6.7

ⱷfi♩ Mכ⸗ 0 [Nm] 1.41E+19

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.7

⸗♦ꜟ  Smodel [km
2
] 504

 Ds [MPa] 3.0

∆═╡  D  [m] 0.90

⸗♦ꜟ  [°N] 35.198

⸗♦ꜟ  [°E] 139.788

 q [ ] 300.0

 d [ ] 45.0

∆═╡  l [ ] 180

⸗♦ꜟ ↕ H s [km] 3

⸗♦ꜟ ↕  H d [km] 15

⸗♦ꜟ ↕ L model [km] 28

⸗♦ꜟ  Wmodel [km] 18

 1

꜠ⱬꜟ A  [Nm/s
2
] 1.29E+19

▪
☻
Ɑ
ꜞ

♥

95.0

16.1

1.80

5.34E+18

▪
☻
Ɑ
ꜞ

♥

1

95.0

16.1

1.80

12 × 8

▪
☻
Ɑ
ꜞ

♥

2

 

 

 

409.0

2.8

0.7

8.79E+18
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

 
 

 

 

 

 

 

 

 

▪☻Ɑꜞ♥▫≤ ─   

⌐╟╢

⌐╟╢

M 0 = (Smodel 10
11

/4.24)
2

10
-7

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

↓╣╕≢≤ ≤

≤2km─ ™

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
2
(Rה

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
saה3

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

↕ L  [km] 11km

 M 6.6

ⱷfi♩ Mכ⸗ 0 [Nm] 7.21E+18

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.5

⸗♦ꜟ  Smodel [km
2
] 360

 Ds [MPa] 2.6

∆═╡  D  [m] 0.60

⸗♦ꜟ  [°N] 35.181

⸗♦ꜟ  [°E] 139.758

 q [ ] 300.0

 d [ ] 45.0

∆═╡  l [ ] 180

⸗♦ꜟ ↕ H s [km] 3

⸗♦ꜟ ↕  H d [km] 15

⸗♦ꜟ ↕ L model [km] 20

⸗♦ꜟ  Wmodel [km] 18

 1

꜠ⱬꜟ A  [Nm/s
2
] 1.02E+19

▪
☻
Ɑ
ꜞ

♥

55.4

16.7

1.2

2.08E+18

▪
☻
Ɑ
ꜞ

♥

1

55.4

16.7

1.2

10 × 6

▪
☻
Ɑ
ꜞ

♥

2

 

 

 

304.6

2.3

0.5

5.13E+18
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

₈ ₉

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
2
(Rה

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 8 × 8

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
3
saה

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

▪
☻
Ɑ
ꜞ

♥

1

66.9

16.4

1.45

▪
☻
Ɑ
ꜞ

♥

2

 

 

329.1

2.8

0.58

5.95E+18

▪
☻
Ɑ
ꜞ

♥

66.9

16.4

1.45

3.03E+18

⸗♦ꜟ  Wmodel [km] 18

꜠ⱬꜟ A  [Nm/s
2
] 1.10E+19

⸗♦ꜟ ↕ H s [km] 2

⸗♦ꜟ ↕  H d [km] 15

⸗♦ꜟ ↕ L model [km] 22

 q [ ] 351.5

 d [ ] 45.0

∆═╡  l [ ] 90

0.73

⸗♦ꜟ  [°N] 35.363

⸗♦ꜟ  [°E] 139.323

↕ L  [km] 21

 M 7.0

ⱷfi♩ Mכ⸗ 0 [Nm] 8.98E+18

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.6

⸗♦ꜟ  Smodel [km
2
] 396

 Ds [MPa] 2.8

∆═╡  D  [m]

 

βɨb=Ⱥɨ≤ ⇔√⁹ 
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  

⌐╟╢

M  = (log L  + 2.9) / 0.6

log M 0 = 1.17 M  + 10.72

M w = (log M 0 - 9.1) / 1.5

Smodel = L model Wmodel

Ds = 7/16ה(M 0 / R
3
), R = (Smodel / p)

1/2

D  = M 0 / (mהSmodel)

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

⌐ ≠ↄ

₈ ₉

≤2km─ ™

⌐ ≠ↄ

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

₈꜠◦Ⱨ₉─ ▬ ─ ⌐ ℮

A  = 2.46×10
10

×(M 0×10
7
)
1/3

 Sa [km
2
] Sa = pr

2
, r = (7p/4)ה{ M 0 / (AהR)}הb

2

 sa [MPa] sa = Dsa = 7/16הM 0 / (r
2
(Rה

∆═╡  D a [m] D a = gDהD , gD = 2.0

ⱷfi♩ Mכ⸗ 0a [Nm] M 0a = mהD aהSa

 Sa1 [km
2
] Sa1 = Sa(2/3)ה ╕√│ Sa1 = Sa

 sa1 [MPa] sa1 = sa

∆═╡  D a1 [m] D a1 = (g1 / Sgi
3
Dה( a ╕√│ D a1 = D a

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼ 6 × 6

 Sa2 [km
2
] Sa2 = Sa / 3 ╕√│₈⌂⇔₉

 sa2 [MPa] sa2 = sa ╕√│₈⌂⇔₉

∆═╡  D a2 [m] D a2 = (g2 / Sgi
3
Dה( a ╕√│₈⌂⇔₉

 [km
2
] 2kmⱷ♇◦ꜙ◘▬☼    

 Sb [km
2
] Sb = Smodel - Sa

 sb [MPa] sb = (D b / Wb)ה(p
1/2

 / D a)הrהSgi
3
saה

∆═╡  D b [m] D b = M 0b / (mהSb)

ⱷfi♩ Mכ⸗ 0b [Nm] M 0b = M 0 - M 0a

▪
☻
Ɑ
ꜞ

♥

1

38.4

17.4

1.04

▪
☻
Ɑ
ꜞ

♥

2

 

 

249.6

2.8

0.44

3.42E+18

▪
☻
Ɑ
ꜞ

♥

38.4

17.4

1.04

1.24E+18

⸗♦ꜟ  Wmodel [km] 16

꜠ⱬꜟ A  [Nm/s
2
] 8.85E+18

⸗♦ꜟ ↕ H s [km] 2

⸗♦ꜟ ↕  H d [km] 10

⸗♦ꜟ ↕ L model [km] 18

 q [ ] 241.4

 d [ ] 30.0

∆═╡  l [ ] 90

0.52

⸗♦ꜟ  [°N] 35.428

⸗♦ꜟ  [°E] 139.039

↕ L  [km] 15

 M 6.8

ⱷfi♩ Mכ⸗ 0 [Nm] 4.66E+18

M ♪כꜙ♅♬◓ⱷfi♩ⱴכ⸗ w 6.4

⸗♦ꜟ  Smodel [km
2
] 288

 Ds [MPa] 2.3

∆═╡  D  [m]

 

 

 

 

 

 

 

 

▪☻Ɑꜞ♥▫≤ ─   
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β ─ │ ⌐╟╢  
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╩ ⇔√ ◦♫ꜞ○  

 

─√╘─ Ɽꜝⱷכ♃ 2017 ⸗♦ꜟ  
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│ ─  
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